



Laplace transform and Hyers–Ulam stability of linear differential equations



Hamid Rezaei^a, Soon-Mo Jung^{b,*}, Themistocles M. Rassias^c

^a Department of Mathematics, College of Sciences, Yasouj University, Yasouj-75914-74831, Iran

^b Mathematics Section, College of Science and Technology, Hongik University, 339–701 Sejong, Republic of Korea

^c Department of Mathematics, National Technical University of Athens, Zografou Campus, 15780 Athens, Greece

ARTICLE INFO

Article history:

Received 23 April 2012

Available online 26 February 2013

Submitted by R.H. Torres

Keywords:

Laplace transform

Laplace transform method

Differential equation

Hyers–Ulam stability

Approximation

ABSTRACT

In this paper, we prove the Hyers–Ulam stability of a linear differential equation of the n th order. More precisely, applying the Laplace transform method, we prove that the differential equation $y^{(n)}(t) + \sum_{k=0}^{n-1} \alpha_k y^{(k)}(t) = f(t)$ has Hyers–Ulam stability, where α_k is a scalar, y and f are n times continuously differentiable and of exponential order, respectively.

© 2013 Elsevier Inc. All rights reserved.

1. Introduction

In 1940, Ulam [22] posed a problem concerning the stability of functional equations: “Give conditions in order for a linear function near an approximately linear function to exist”.

A year later, Hyers [5] gave an answer to the problem of Ulam for additive functions defined on Banach spaces: Let X_1 and X_2 be real Banach spaces and $\varepsilon > 0$. Then for every function $f : X \rightarrow Y$ satisfying

$$\|f(x+y) - f(x) - f(y)\| \leq \varepsilon \quad (x, y \in X_1),$$

there exists a unique additive function $A : X_1 \rightarrow X_2$ with the property

$$\|f(x) - A(x)\| \leq \varepsilon \quad (x \in X_1).$$

After Hyers’s result, many mathematicians have extended Ulam’s problem to other functional equations and generalized Hyers’s result in various directions (see [3,6,10]). A generalization of Ulam’s problem was recently proposed by replacing functional equations with differential equations: The differential equation $\varphi(f, y, y', \dots, y^{(n)}) = 0$ has Hyers–Ulam stability if for given $\varepsilon > 0$ and a function y such that $|\varphi(f, y, y', \dots, y^{(n)})| \leq \varepsilon$, there exists a solution y_a of the differential equation such that $|y(t) - y_a(t)| \leq K(\varepsilon)$ and $\lim_{\varepsilon \rightarrow 0} K(\varepsilon) = 0$. If the preceding statement is also true when we replace ε and $K(\varepsilon)$ by $\alpha(t)$ and $\beta(t)$, where α, β are appropriate functions not depending on y and y_a explicitly, then we say that the corresponding differential equation has the generalized Hyers–Ulam stability.

Obłozza seems to be the first author who has investigated the Hyers–Ulam stability of linear differential equations (see [14,15]). Thereafter, Alsina and Ger published their paper [1], which handles the Hyers–Ulam stability of the linear differential equation $y'(t) = y(t)$: If a differentiable function $y(t)$ is a solution of the inequality $|y'(t) - y(t)| \leq \varepsilon$ for any $t \in (a, \infty)$, then there exists a constant c such that $|y(t) - ce^t| \leq 3\varepsilon$ for all $t \in (a, \infty)$.

* Corresponding author.

E-mail addresses: rezaei@mail.yu.ac.ir (H. Rezaei), smjung@hongik.ac.kr (S.-M. Jung), trassias@math.ntua.gr (T.M. Rassias).

Those previous results were extended to the Hyers–Ulam stability of linear differential equations of first order and higher order with constant coefficients in [12,20,21] and in [13], respectively. Furthermore, Jung has also proved the Hyers–Ulam stability of linear differential equations (see [7–9]). Rus investigated the Hyers–Ulam stability of differential and integral equations using the Gronwall lemma and the technique of weakly Picard operators (see [18,19]). Recently, the Hyers–Ulam stability problems of linear differential equations of first order and second order with constant coefficients were studied by using the method of integral factors (see [11,23]). The results given in [8,11,12] have been generalized by Cîmpean and Popa [2] and by Popa and Raşa [16,17] for the linear differential equations of n th order with constant coefficients.

In this paper, we investigate the Hyers–Ulam stability of the linear differential equations by using the Laplace transform method.

2. Laplace transform and inverse transform

Throughout this paper, \mathbb{F} will denote either the real field \mathbb{R} or the complex field \mathbb{C} . A function $f : (0, \infty) \rightarrow \mathbb{F}$ is said to be of exponential order if there are constants $A, B \in \mathbb{R}$ such that

$$|f(t)| \leq Ae^{tB}$$

for all $t > 0$. For each function $f : (0, \infty) \rightarrow \mathbb{F}$ of exponential order, we define the Laplace transform of f by

$$F(s) = \int_0^\infty f(t)e^{-st} dt.$$

There exists a unique number $-\infty \leq \sigma < \infty$ such that this integral converges if $\Re(s) > \sigma$ and diverges if $\Re(s) < \sigma$. The number σ is called the abscissa of convergence and denoted by σ_f . It is well known that $|F(s)| \rightarrow 0$ as $\Re(s) \rightarrow \infty$. Furthermore, f is analytic on the open right half plane $\{s \in \mathbb{C} : \Re(s) > \sigma\}$ and we have

$$\frac{d}{ds}F(s) = - \int_0^\infty te^{-st}f(t)dt \quad (\Re(s) > \sigma).$$

The Laplace transform of f is sometimes denoted by $\mathcal{L}(f)$. It is well known that \mathcal{L} is linear and one-to-one.

Conversely, let $f(t)$ be a continuous function whose Laplace transform $F(s)$ has the abscissa of convergence σ_f , then the formula for the inverse Laplace transforms yields

$$f(t) = \frac{1}{2\pi i} \lim_{T \rightarrow \infty} \int_{\alpha-iT}^{\alpha+iT} F(s)e^{st} ds = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{(\alpha+iy)t} F(\alpha+iy) dy$$

for any real constant $\alpha > \sigma_f$, where the first integral is taken along the vertical line $\Re(s) = \alpha$ and converges as an improper Riemann integral and the second integral is used as an alternative notation for the first integral (see [4]). Hence, we have

$$\begin{aligned} \mathcal{L}(f)(s) &= \int_0^\infty f(t)e^{-st} dt \quad (\Re(s) > \sigma_f) \\ \mathcal{L}^{-1}(F)(t) &= \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{(\alpha+iy)t} F(\alpha+iy) dy \quad (\alpha > \sigma_f). \end{aligned}$$

3. Hyers–Ulam stability of linear differential equations

Recall that the convolution of two integrable functions $f, g : (0, \infty) \rightarrow \mathbb{F}$ is defined by

$$(f * g)(t) = \int_0^t f(t-x)g(x)dx.$$

It is easy to check that

$$\mathcal{L}(f * g) = \mathcal{L}(f)\mathcal{L}(g).$$

Before stating the main theorem, we need the following two lemmas.

Lemma 3.1. *Let*

$$P(s) = \alpha_0 + \alpha_1 s + \alpha_2 s^2 + \cdots + \alpha_n s^n$$

and

$$Q(s) = \beta_0 + \beta_1 s + \beta_2 s^2 + \cdots + \beta_m s^m,$$

where m, n are nonnegative integers with $m < n$ and α_j, β_j are scalars. Then there exists an infinitely differentiable function $g : (0, \infty) \rightarrow \mathbb{F}$ such that

$$\mathcal{L}(g) = \frac{Q(s)}{P(s)} \quad (\Re(s) > \sigma_p)$$

and

$$g^{(i)}(0) = \begin{cases} 0 & (\text{for } i = 0, 1, \dots, n-m-2), \\ \beta_m/\alpha_n & (\text{for } i = n-m-1), \end{cases}$$

where $\sigma_p = \max\{\Re(s) : P(s) = 0\}$.

Proof. Let $\ell = n - m$. Express $P(s)$ as a product of linear factors:

$$P(s) = \alpha_n(s - s_1)^{n_1}(s - s_2)^{n_2} \cdots (s - s_k)^{n_k}$$

for some complex numbers s_i and integers n_i , $i = 1, 2, \dots, k$, with $n = n_1 + \cdots + n_k$. Applying the partial fraction decomposition of $Q(s)/P(s)$, we obtain

$$\frac{Q(s)}{P(s)} = \sum_{i=1}^k \sum_{j=1}^{n_i} \frac{\lambda_{ij}}{(s - s_i)^j},$$

where λ_{ij} is a scalar for each $i = 1, 2, \dots, k$ and $j = 1, 2, \dots, n_i$. Let

$$h_{ij}(t) = \frac{t^{j-1}}{(j-1)!} e^{s_i t}$$

for every integer $i = 1, 2, \dots, k$ and $j = 1, 2, \dots, n_i$. We then define

$$g(t) = \sum_{i=1}^k \sum_{j=1}^{n_i} \lambda_{ij} h_{ij}(t)$$

and use the linearity of the Laplace transform to get

$$\mathcal{L}(g) = \mathcal{L}\left(\sum_{i=1}^k \sum_{j=1}^{n_i} \lambda_{ij} h_{ij}(t)\right) = \sum_{i=1}^k \sum_{j=1}^{n_i} \lambda_{ij} \mathcal{L}(h_{ij}) = \sum_{i=1}^k \sum_{j=1}^{n_i} \frac{\lambda_{ij}}{(s - s_i)^j} = \frac{Q(s)}{P(s)}$$

for every s with $\Re(s) > \sigma_p$, where $\sigma_p = \max\{\Re(s_i) : i = 1, \dots, k\}$. This completes the first part of our proof.

For the proof of the second part, applying the Maclaurin series expansion of g yields

$$g(t) = g(0) + g'(0)t + \cdots + \frac{g^{(n-1)}(0)}{(n-1)!} t^{n-1} + h(t),$$

where

$$h(t) = \sum_{i=n}^{\infty} \frac{g^{(i)}(0)}{i!} t^i.$$

Note that

$$\mathcal{L}(h) = \frac{H(s)}{s^{n+1}}$$

for some complex function H , and so

$$\mathcal{L}(g) = \frac{g(0)}{s} + \frac{g'(0)}{s^2} + \frac{g''(0)}{s^3} + \cdots + \frac{g^{(n-1)}(0)}{s^n} + \frac{H(s)}{s^{n+1}}.$$

Comparing the above relations, we get

$$\frac{g(0)}{s} + \frac{g'(0)}{s^2} + \frac{g''(0)}{s^3} + \cdots + \frac{g^{(n-1)}(0)}{s^n} + \frac{H(s)}{s^{n+1}} = \frac{\beta_0 + \beta_1 s + \cdots + \beta_m s^m}{\alpha_0 + \alpha_1 s + \cdots + \alpha_{m+\ell} s^{m+\ell}}.$$

If $\ell \geq 2$, multiply both sides of the above relation by s and then let $s \rightarrow \infty$ to get $g(0) = 0$. If $\ell > 2$, multiply both sides of the above equality by s^2 and let $s \rightarrow \infty$ to get $g'(0) = 0$. Continuing in this way, we get $g(0) = g'(0) = \cdots = g^{(\ell-2)}(0) = 0$. Finally, multiply both sides of the equality by s^ℓ and let $s \rightarrow \infty$ to get $g^{(\ell-1)}(0) = \beta_m/\alpha_n$. This completes the proof. \square

In what follows, the functions $f, y : (0, \infty) \rightarrow \mathbb{F}$ are assumed to be of exponential order and continuous. If there is no danger of confusion, we write $f(0)$ and $y(0)$ instead of $f(0^+)$ and $y(0^+)$, respectively.

Lemma 3.2. Given an integer $n > 1$, let $f : (0, \infty) \rightarrow \mathbb{F}$ be a continuous function and let $P(s)$ be a complex polynomial of degree n . Then there exists an n times continuously differentiable function $h : (0, \infty) \rightarrow \mathbb{F}$ such that

$$\mathcal{L}(h) = \frac{\mathcal{L}(f)}{P(s)} \quad (\Re(s) > \max\{\sigma_p, \sigma_f\}),$$

where $\sigma_p = \max\{\Re(s) : P(s) = 0\}$ and σ_f is the abscissa of convergence for f . In particular, it holds that $h^{(i)}(0) = 0$ for every $i = 0, 1, \dots, n-1$.

Proof. If we take $Q(s) = 1$ and $P(s) = \alpha_0 + \alpha_1 s + \dots + \alpha_n s^n$ in Lemma 3.1, then there exists an infinitely differentiable function $g : (0, \infty) \rightarrow \mathbb{F}$ such that

$$\mathcal{L}(g) = \frac{1}{P(s)} \quad (\Re(s) > \sigma_p)$$

and $g^{(i)}(0) = 0$ if $i = 0, 1, \dots, n-2$ and $g^{(n-1)}(0) = 1/\alpha_n$. If we define $h = g * f$, then

$$\mathcal{L}(h) = \mathcal{L}(g * f) = \mathcal{L}(g)\mathcal{L}(f) = \frac{\mathcal{L}(f)}{P(s)}.$$

By Leibniz's rule for differentiation under the integral sign, we have

$$h'(t) = g(0)f(t) + \int_0^t g'(t-x)f(x)dx = \int_0^t g'(t-x)f(x)dx,$$

and more generally

$$h^{(i)}(t) = g^{(i-1)}(0)f(t) + \int_0^t g^{(i)}(t-x)f(x)dx = \int_0^t g^{(i)}(t-x)f(x)dx$$

for every $i = 1, \dots, n-1$. Hence, we get

$$h(0) = h'(0) = \dots = h^{(n-1)}(0) = 0,$$

which completes the proof. \square

Theorem 3.3. Let α be a scalar. If a function $y : (0, \infty) \rightarrow \mathbb{F}$ satisfies the inequality

$$|y'(t) + \alpha y(t) - f(t)| \leq \varepsilon \quad (3.1)$$

for all $t > 0$ and for some $\varepsilon > 0$, then there exists a solution $y_a : (0, \infty) \rightarrow \mathbb{F}$ of the differential equation

$$y'(t) + \alpha y(t) = f(t) \quad (3.2)$$

such that

$$|y_a(t) - y(t)| \leq \begin{cases} \varepsilon t & (\text{for } \Re(\alpha) = 0), \\ \frac{(1 - e^{-\Re(\alpha)t})\varepsilon}{\Re(\alpha)} & (\text{for } \Re(\alpha) \neq 0) \end{cases}$$

for all $t > 0$.

Proof. If we define $z(t) = y'(t) + \alpha y(t) - f(t)$ for each $t > 0$, then we have

$$\mathcal{L}(z) = s\mathcal{L}(y) - y(0) + \alpha\mathcal{L}(y) - \mathcal{L}(f)$$

and so

$$\mathcal{L}(y) - \frac{y(0) + \mathcal{L}(f)}{s + \alpha} = \frac{\mathcal{L}(z)}{s + \alpha}. \quad (3.3)$$

If we set

$$y_a(t) = y(0)e^{-\alpha t} + (E_{-\alpha} * f)(t),$$

where $E_{-\alpha}(t) = e^{-\alpha t}$, then $y_a(0) = y(0)$ and

$$\mathcal{L}(y_a) = \frac{y(0) + \mathcal{L}(f)}{s + \alpha} = \frac{y_a(0) + \mathcal{L}(f)}{s + \alpha}. \quad (3.4)$$

Hence, we get

$$\mathcal{L}(y'_a(t) + \alpha y_a(t)) = s\mathcal{L}(y_a) - y_a(0) + \alpha\mathcal{L}(y_a) = \mathcal{L}(f).$$

Since \mathcal{L} is one-to-one, it follows that $y'_a(t) + \alpha y_a(t) = f(t)$. Thus, y_a is a solution of (3.2). Applying (3.3) and (3.4) and considering $\mathcal{L}(E_{-\alpha} * z) = \mathcal{L}(z)/(s + \alpha)$, we obtain $\mathcal{L}(y) - \mathcal{L}(y_a) = \mathcal{L}(E_{-\alpha} * z)$ and consequently $y(t) - y_a(t) = (E_{-\alpha} * z)(t)$. In view of (3.1), it holds that $|z(t)| \leq \varepsilon$ and it follows from the definition of the convolution that

$$|y(t) - y_a(t)| = |(E_{-\alpha} * z)(t)| \leq \varepsilon e^{-\Re(\alpha)t} \int_0^t e^{\Re(\alpha)x} dx,$$

which completes the proof. \square

The following theorem is our main theorem, in which we investigate the Hyers–Ulam stability problem of linear differential equations of n th order by using the Laplace transform method.

Theorem 3.4. Let $\alpha_0, \alpha_1, \dots, \alpha_{n-1}$ be scalars, where n is an integer larger than 1. Then there exist a constant $M > 0$ such that for every function $y : (0, \infty) \rightarrow \mathbb{F}$ satisfying the inequality

$$\left| y^{(n)}(t) + \sum_{k=0}^{n-1} \alpha_k y^{(k)}(t) - f(t) \right| \leq \varepsilon \quad (3.5)$$

for all $t > 0$ and for some $\varepsilon > 0$, there exists a solution $y_a : (0, \infty) \rightarrow \mathbb{F}$ of the differential equation

$$y^{(n)}(t) + \sum_{k=0}^{n-1} \alpha_k y^{(k)}(t) = f(t) \quad (3.6)$$

such that

$$|y_a(t) - y(t)| \leq \varepsilon M \frac{e^{\alpha t}}{\alpha}$$

for all $t > 0$ and for any $\alpha > \max\{0, \sigma_p, \sigma_f\}$, where σ_p is defined in (3.9).

Proof. Applying integration by parts repeatedly, we may derive

$$\mathcal{L}(y^{(n)}) = s^n \mathcal{L}(y) - \sum_{j=1}^n s^{n-j} y^{(j-1)}(0)$$

for any positive integer n . Let $\alpha_n = 1$. In view of the preceding formula, we see that a function y_0 is a solution of (3.6) if and only if

$$\begin{aligned} \mathcal{L}(f) &= \sum_{k=0}^n \alpha_k s^k \mathcal{L}(y_0) - \sum_{k=1}^n \alpha_k \sum_{j=1}^k s^{k-j} y_0^{(j-1)}(0) \\ &= \sum_{k=0}^n \alpha_k s^k \mathcal{L}(y_0) - \sum_{j=1}^n \sum_{k=j}^n \alpha_k s^{k-j} y_0^{(j-1)}(0) \\ &= P_{n,0}(s) \mathcal{L}(y_0) - \sum_{j=1}^n P_{n,j}(s) y_0^{(j-1)}(0), \end{aligned} \quad (3.7)$$

where the polynomials $P_{n,j}$ are determined by

$$P_{n,j}(s) = \alpha_j + \alpha_{j+1}s + \alpha_{j+2}s^2 + \dots + \alpha_{n-1}s^{n-j-1} + \alpha_n s^{n-j} = \sum_{k=j}^n \alpha_k s^{k-j}$$

for $j = 0, 1, \dots, n$.

Let us define

$$h(t) = y^{(n)}(t) + \sum_{k=0}^{n-1} \alpha_k y^{(k)}(t) - f(t)$$

for all $t > 0$. Then, similarly as in (3.6) and (3.7), we obtain

$$\mathcal{L}(h) = P_{n,0}(s) \mathcal{L}(y) - \sum_{j=1}^n P_{n,j}(s) y^{(j-1)}(0) - \mathcal{L}(f).$$

Hence, we get

$$\mathcal{L}(y) - \frac{1}{P_{n,0}(s)} \left(\sum_{j=1}^n P_{n,j}(s) y^{(j-1)}(0) + \mathcal{L}(f) \right) = \frac{\mathcal{L}(h)}{P_{n,0}(s)}. \quad (3.8)$$

Let σ_f be the abscissa of convergence for f , let s_1, s_2, \dots, s_n be the roots of the polynomial $P_{n,0}$, and let

$$\sigma_p = \max\{\Re(s_k) : k = 1, 2, \dots, n\}. \quad (3.9)$$

For any s with $\Re(s) > \max\{\sigma_p, \sigma_f\}$, we set

$$G(s) = \frac{1}{P_{n,0}(s)} \left(\sum_{j=1}^n P_{n,j}(s) y^{(j-1)}(0) + \mathcal{L}(f) \right). \quad (3.10)$$

By Lemma 3.2, there exists an n times continuously differentiable function f_0 such that

$$\mathcal{L}(f_0) = \frac{\mathcal{L}(f)}{P_{n,0}(s)} \quad (3.11)$$

for all s with $\Re(s) > \max\{\sigma_p, \sigma_f\}$ and

$$f_0(0) = f'_0(0) = \dots = f_0^{(n-1)}(0) = 0.$$

For $j = 1, 2, \dots, n$, we note that

$$\frac{P_{n,j}(s)}{P_{n,0}(s)} = \frac{1}{s^j} - \frac{\alpha_0 + \alpha_1 s + \dots + \alpha_{j-1} s^{j-1}}{s^j P_{n,0}(s)} \quad (3.12)$$

for every s with $\Re(s) > \max\{0, \sigma_p\}$. Applying Lemma 3.1 for the case of $Q(s) = \alpha_0 + \alpha_1 s + \dots + \alpha_{j-1} s^{j-1}$ and $P(s) = s^j P_{n,0}(s)$, we can find an infinitely differentiable function g_j such that

$$\mathcal{L}(g_j) = \frac{\alpha_0 + \alpha_1 s + \dots + \alpha_{j-1} s^{j-1}}{s^j P_{n,0}(s)} \quad (3.13)$$

and

$$g_j(0) = g'_j(0) = \dots = g_j^{(n-1)}(0) = 0.$$

Let

$$f_j(t) = \frac{t^{j-1}}{(j-1)!} - g_j(t) \quad (3.14)$$

for $j = 1, 2, \dots, n$. Then we have

$$f_j^{(i)}(0) = \begin{cases} 0 & (\text{for } i = 0, 1, \dots, j-2, j, j+1, \dots, n-1), \\ 1 & (\text{for } i = j-1). \end{cases}$$

If we define

$$y_a(t) = \sum_{j=1}^n y^{(j-1)}(0) f_j(t) + f_0(t),$$

then the conditions for f_j and f_0 imply that

$$y_a^{(i)}(0) = y^{(i)}(0)$$

for every $i = 0, 1, \dots, n-1$. Moreover, it follows from (3.10) to (3.14) that $\mathcal{L}(y_a) = G(s)$ and hence

$$\mathcal{L}(y_a) = \frac{1}{P_{n,0}(s)} \left(\sum_{j=1}^n P_{n,j}(s) y_a^{(j-1)}(0) + \mathcal{L}(f) \right) \quad (3.15)$$

for each s with $\Re(s) > \max\{0, \sigma_p, \sigma_f\}$.

Now, (3.7) implies that y_a is a solution of (3.6). Moreover, by (3.8) and (3.15), we have

$$\mathcal{L}(y) - \mathcal{L}(y_a) = \frac{\mathcal{L}(h)}{P_{n,0}(s)}$$

and so

$$|y(t) - y_a(t)| = \left| \mathcal{L}^{-1} \left(\frac{\mathcal{L}(h)}{P_{n,0}(s)} \right) \right|$$

for $t > 0$. By the definition of h and (3.5), it holds that $|h(t)| \leq \varepsilon$ for every $t > 0$ and so

$$|\mathcal{L}(h)| \leq \int_0^\infty |e^{-st}| |h(t)| dt \leq \frac{\varepsilon}{\Re(s)} \quad (3.16)$$

for all s with $\Re(s) > 0$.

Finally, it follows from the formula for the inverse Laplace transform that

$$\begin{aligned} |y(t) - y_a(t)| &= \left| \mathcal{L}^{-1} \left(\frac{\mathcal{L}(h)}{P_{n,0}(s)} \right) \right| \\ &= \frac{1}{2\pi} \left| \int_{-\infty}^\infty e^{(\alpha+iy)t} \frac{\mathcal{L}(h)(\alpha+iy)}{P_{n,0}(\alpha+iy)} dy \right| \\ &\leq \frac{1}{2\pi} \int_{-\infty}^\infty e^{\alpha t} \frac{\varepsilon}{\alpha} \frac{1}{|P_{n,0}(\alpha+iy)|} dy \quad \text{by (3.16)} \\ &\leq \frac{\varepsilon}{2\pi\alpha} e^{\alpha t} \int_{-\infty}^\infty \frac{1}{|P_{n,0}(\alpha+iy)|} dy \\ &\leq \varepsilon M \frac{e^{\alpha t}}{\alpha} \end{aligned}$$

for all $t > 0$ and any $\alpha > \max\{0, \sigma_p, \sigma_f\}$, where

$$M = \frac{1}{2\pi} \int_{-\infty}^\infty \frac{1}{|P_{n,0}(\alpha+iy)|} dy < \infty$$

because n is an integer larger than 1. \square

Since $e^{\alpha t}/\alpha$ has its minimum at $\alpha = 1/t$, it holds that

$$\frac{e^{\alpha t}}{\alpha} \geq et$$

either for all $t > 0$ (if $\max\{0, \sigma_p, \sigma_f\} = 0$) or for all sufficiently small $t > 0$ with $1/t > \max\{0, \sigma_p, \sigma_f\}$. Thus, we have the following corollaries.

Corollary 3.5. Assume that $\max\{0, \sigma_p, \sigma_f\} = 0$. Then there exists a constant $M > 0$ such that for every function $y : (0, \infty) \rightarrow \mathbb{F}$ satisfying the inequality (3.5) for all $t > 0$ and for some $\varepsilon > 0$, there exists a solution $y_a : (0, \infty) \rightarrow \mathbb{F}$ of the differential equation (3.6) such that

$$|y_a(t) - y(t)| \leq \varepsilon Met$$

for all $t > 0$, where σ_p is defined in (3.9).

Corollary 3.6. Assume that $\max\{0, \sigma_p, \sigma_f\} > 0$. Then there exists a constant $M > 0$ such that for every function $y : (0, \infty) \rightarrow \mathbb{F}$ satisfying the inequality (3.5) for all $t > 0$ and for some $\varepsilon > 0$, there exists a solution $y_a : (0, \infty) \rightarrow \mathbb{F}$ of the differential equation (3.6) such that

$$|y_a(t) - y(t)| \leq \varepsilon Met$$

for all t with $0 < t < 1/\max\{0, \sigma_p, \sigma_f\}$.

Acknowledgment

The authors would like to express their cordial thanks to the referee for useful remarks which have improved the first version of this paper.

References

- [1] C. Alsina, R. Ger, On some inequalities and stability results related to the exponential function, *J. Inequal. Appl.* 2 (1998) 373–380.
- [2] D.S. Cimpean, D. Popa, On the stability of the linear differential equation of higher order with constant coefficients, *Appl. Math. Comput.* 217 (2010) 4141–4146.
- [3] S. Czerwik, *Functional Equations and Inequalities in Several Variables*, World Scientific, Singapore, 2002.
- [4] B. Davies, *Integral Transforms and Their Applications*, Springer, New York, 2001.
- [5] D.H. Hyers, On the stability of the linear functional equation, *Proc. Natl. Acad. Sci. USA* 27 (1941) 222–224.
- [6] D.H. Hyers, G. Isac, Th.M. Rassias, *Stability of Functional Equations in Several Variables*, Birkhäuser, Boston, 1998.
- [7] S.-M. Jung, Hyers–Ulam stability of linear differential equations of first order, *Appl. Math. Lett.* 17 (2004) 1135–1140.
- [8] S.-M. Jung, Hyers–Ulam stability of linear differential equations of first order, III, *J. Math. Anal. Appl.* 311 (2005) 139–146.
- [9] S.-M. Jung, Hyers–Ulam stability of linear differential equations of first order, II, *Appl. Math. Lett.* 19 (2006) 854–858.
- [10] S.-M. Jung, Hyers–Ulam–Rassias Stability of Functional Equations in Nonlinear Analysis, Springer, New York, 2011.
- [11] Y. Li, Y. Shen, Hyers–Ulam stability of linear differential equations of second order, *Appl. Math. Lett.* 23 (2010) 306–309.
- [12] T. Miura, S. Miyajima, S.E. Takahasi, A characterization of Hyers–Ulam stability of first order linear differential operators, *J. Math. Anal. Appl.* 286 (2003) 136–146.
- [13] T. Miura, S. Miyajima, S.E. Takahasi, Hyers–Ulam stability of linear differential operator with constant coefficients, *Math. Nachr.* 258 (2003) 90–96.
- [14] M. Obłoza, Hyers stability of the linear differential equation, *Rocznik Nauk.-Dydakt. Prace Mat.* 13 (1993) 259–270.
- [15] M. Obłoza, Connections between Hyers and Lyapunov stability of the ordinary differential equations, *Rocznik Nauk.-Dydakt. Prace Mat.* 14 (1997) 141–146.
- [16] D. Popa, I. Raşa, On the Hyers–Ulam stability of the linear differential equation, *J. Math. Anal. Appl.* 381 (2011) 530–537.
- [17] D. Popa, I. Raşa, Hyers–Ulam stability of the linear differential operator with non-constant coefficients, *Appl. Math. Comput.* 219 (2012) 1562–1568.
- [18] I.A. Rus, Remarks on Ulam stability of the operatorial equations, *Fixed Point Theory* 10 (2009) 305–320.
- [19] I.A. Rus, Ulam stability of ordinary differential equations, *Stud. Univ. Babeş-Bolyai Math.* 54 (2009) 125–134.
- [20] S.E. Takahasi, T. Miura, S. Miyajima, On the Hyers–Ulam stability of the Banach space-valued differential equation $y' = \lambda y$, *Bull. Korean Math. Soc.* 39 (2002) 309–315.
- [21] S.E. Takahasi, H. Takagi, T. Miura, S. Miyajima, The Hyers–Ulam stability constants of first order linear differential operators, *J. Math. Anal. Appl.* 296 (2004) 403–409.
- [22] S.M. Ulam, *A Collection of Mathematical Problems*, in: Interscience Tracts in Pure and Applied Mathematics, No. 8, Interscience, New York, 1960.
- [23] G. Wang, M. Zhou, L. Sun, Hyers–Ulam stability of linear differential equations of first order, *Appl. Math. Lett.* 21 (2008) 1024–1028.